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Algebra 2H Name:
7.1-7.4 Practice

Simplify each expression completely. No negative exponents. No radicals in the

(f\ denominator. :
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For 13-14. tind the equation for the inverse of each function.
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15 Graph the nverse of the given function. State whether the inverse 1s a function

16 A furctor M) cortans the ports (-2.3) (0,-1}(2,-2),(4,6). Give the poggs known 10
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17. Given the functions f(x)=—4+0.5(x-3)’ and g(x)=3+{(2x+4) :

a) Find f(3)and g(—4). ] What does this imply?
==y s 3 Lot thueseS
b) Find f(6)and g(9.5). What does this imply?
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c) Over what domain are f and g inverse functions? You can use your calculator to graph
them it you'd like.

18. Given g(1) =5+ 2 find each value:
a) 9(12) = 39 b) g'(-9) = -3 c) g (21) =8

3
10. Given f(x)=4+(x-2)"!
a) Solve for x when f(x) = 31.

Xx=245

b)Find f '(x). = (\(-q) 5’54 o)

C) Algetraically, what 1s true of inverse functions?

£ (ge3)=x  AMD g(+0) =X



